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: ‘S 100
qwers all the sections,

ctio** 10 of the following.

S“.Fr a
pefir
e down the standard form of LPPp,

e OR and write any two applicationg of OR . 10x2=29
Writ
What is pivot TOW and pivot column ?

Define artifical variables with example,

Give the mathematical formulation of transportation problem
Define slack and surplus variable.

Explain Fulkerson’s numbering rule.

Define optimal solution in TP. |
Explain the steps followed Iin determing the saddle point.

- Define Maximin - Minimax Principle,

- Define Total Float and Free Float.

Explain the rule of dominance .

SECTION - B 4x10=40
Y Four of the following : 5
Explain the various phases of Operations Research. ocessing 8
A garments factory works in three levels i.e weaving, CI; of cloths
g Packing with capacity to produce three @fferent tyfofit vy
Namely Suitings, shirtings, woolens yielding th(‘eti?l“ requires 3
. and ¥ 3 per meter respectively. One meter Su-ll p:’lcking. One
min in weaving, 2 min in processing and 1 min ¥ in processing
Meter of shirting requires 4 min in weaving, : l.n,muircs 3 min in
and 3 mjp in packing while one meter woolen Ib}‘} department 1S
o department. In a Week,total run time of eac

i
T ar progfrﬂlnl =

fit.
i’y \ imize the pfo
P Obﬂe.m to find the product mix to maximl s

(b)
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14. (a) Solve graphically the fo ;
Max Z=300x+200Y |

subject to 2x+ y=60 !

q

: I

x<25 0 -
y<35 and X, Y o ifie standard 10

(b) Express the following LPP 1
Min Z=3x, +2x,+X3
Subject to 3x; +3xg"5"358

2x; +6x, +2X3 25
x) = 2xy+2x357

x %2 %70 :
ible Solution for the following 4 |
o h-West Corner rule. |

15. (a) Determine the Initial Basic Fff
Transportation Problem (TP) Using Nort

A B C Available

[ 2] 1]3¢1 6
11 L11[4[9]5
m 1] 774 4
v Ls]zﬁ]s 3
Vi L7112 3

1
Required 9 8 4

b . e . .
(b) SUs]c Vogel’s approximation method to obtain an inital basic feasible 6
olution of the given transportation problem (TP).

Al 2 [11]107:

B 114117112;1_?1;

Cl3J9]4 8 2] o
3 3 4 5 ¢

16. (a) Find the Optimal Ass;

A B C D 5
Ji 8 2 17 11
JQ 13 28 4 26
J3 38 19+ 18 . 15
g |19 26 22 g
t do you :
i P‘yfnagerianymetll::ﬁiagf Zzlﬁzzrli?nent Problem (AP}
‘ AL R T»Des_cribe the
| 5
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(1) cor each activity calculate early giap i«
t_l}_’) calculate Total Float (TF) and Free pyo : ;l)rly nish
(i . v
llowing game. Also f
solve the fo 0 Iind the Qpy;

s. (@) Player B. Ptimal S,

1 AR Ry of Player ¢
Player B
I II
Player A 1 8 ~-3
II| -3 1
(b) Explain Pay Off Matrix and Strategy. .
'SECTION - C

M Answer any four of the following. 4x10=40
19. (a) Give the Simplex method Algorithm. 4
6

(b) Solve the following LPP using Simplex Method
Max Z=3x+8y
subject to 3x+5y=<300
6x+2y=<216 and x, y=0.

ix 10
\ ' e ayoffmatr‘x
20. Using graphical method, solve the rectangular game wiiose R

18
. Player B
| PlaserA| 1 0 4 -1
| -1 1-2 5 10
DI methOd-
{ using
21. Solve the following TP to maximize the profi
I A B c D Suply
I [15[51[42]33] 23
£ I [80[42[26[81] 44
. Im [90|a0|e6|60]| 33 5. 1.0
E Demand 23 31 16 30 | -
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22. (a) Solve the following \' '
[ noom Mo |
- 0 _ ]
A [160] 130 E%—-"ﬁs’ |
B [ 135 ] 120 | 130 -—1-6‘73_5—
Cc [ 140 110 | 155 _I_L-m’
D [ 50 | 50 | 80 E(_)_.——ag‘ 3
E [ 55 [ 35 [ 70 SOJ—I”#Aethod.
{b) Explain steps involved in Least-Cost
23. The following table gives a list of jobs along WI: sl6-7]4-7]5-8[7-8
Jobs 1-21-32-43-42-54;54'66'
(% Optimistic ] ] 9 1 9 2 3 6 S 3 4 z
o) to
& -1
gMosttLﬂ{elyl 4121|556 |15]14]12] 6 4
o —
N I r——
5/ essl’;’mc TlTl8 1148 15|30 17|21 g 6
(a) Draw the Projec:t Network,
(b)  What is probability that the Project wil] be com le
. ted
3 days earlier than expected ? 3 days later than eipeCteda':)t least
24. Solve the following game using Dominance method tq red
Write the strategies adopted by each Player ang Valye ;'Ce the Mmatrix, 10
Player B game,
_ Y1 y2 ys ys ys
x1| 6 15 30 21 6
PlayerA x| 3 3 6 6 4
o x3| 12 12 24 36 3
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